DYNAPOWER

EJ-OR4-40U29. ....x...

DETAIL

= Overall Width: base to base = 22 1/8" , post to post =
20 1/8"

= Overall Depth (base): 29.5", post to post = 22.5"

= Overall Height: 74.5"

= Hole to hole width: 19", Maximum equipment' width:
17 11/16"

= Useable height: 70"

= For slide rail: brackets length must be less than 16.5"

Specifications

Standard

= 2 of welded main frames

= 2 heavy duty plinth (bases)

= 4 piece triangle brackets

= 2 sets of depth supporter

= 50 pcs M6 bolt screws W/washer
= 50 pcs M5 self-tapping screws

= 50 pcs M6 cage nuts

= tools and installation manual

Feature

= 4 pieces heavy duty triangle brackets on bottom of rack to make sure
the main frame and plith were fully connected and even support much
better strength

= Additional depth supporter on the top of rack to ensure main frames
are fully connected

= Allows you to install heavy duty server, not just for cabling

= Allows you to install the sliding rail, not just stack them or center
mounted

= Allows you to install the wheel or bolt on the ground which you prefered

= Allows you to connecting more racks side by side

= Easy assembly

= Shipping within 2 days

EJ-OR4-45U29. ... ..«

DETAIL

= Overall Width: base to base =22 1/8", post to post =
20 1/8"

= Overall Depth (base): 29.5" , post to post = 22.5"

= Overall Height: 83.25"

= Hole to hole width: 19" , Maximum equipment' width:
17 11/16"

= Useable height: 78.75"

= For slide rail: brackets length must be less than 16.5"

www.dynapowerusa.com

230 Paseo Sonrisa, Walnut, CA 91789

Specifications

Standard

= 2 of welded main frames

= 2 heavy duty plinth (bases)

= 4 piece triangle brackets

= 2 sets of depth supporter

= 50 pcs M6 bolt screws W/washer
= 50 pcs M5 self-tapping screws

= 50 pcs M6 cage nuts

= tools and installation manual

Feature

= 4 pieces heavy duty triangle brackets on bottom of rack to make
sure the main frame and plith were fully connected and even
support much better strength

= Additional depth supporter on the top of rack to ensure main
frames are fully connected

= Allows you to install heavy duty server, not just for cabling

= Allows you to install the sliding rail, not just stack them or center
mounted

= Allows you to install the wheel or bolt on the ground which you prefered

= Allows you to connecting more racks side by side

= Easy assembly

= Shipping within 2 days

Toll Free (888) 696-DYNA




